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QUESTION 1

Review the following decision table: 

If the credit score is 600 and the outstanding balance is 3000, which value will be returned? 

A. ApproveLevel 2 

B. Reject 

C. An error is thrown 

D. ApproveLevel1 

Correct Answer: B 

 

QUESTION 2

Which of the following statements regarding dynamic expression calculation is true? (Choose One) 

A. Dynamic expression calculation does not occur when changing a property value programmatically, such as with an
activity 

B. Dynamic expression calculation may occur when an input to the target property changes 

C. Dynamically calculated values automatically update on a flow action 

D. Backward-chaining is not a form of dynamic expression calculation 

Correct Answer: B 
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QUESTION 3

Which control should you use to implement the functionality demonstrated in this example? 

A. Dropdown sourced by a data page that can filter choices based on selection 

B. AutoComplete 

C. Dynamic Select 

D. Dropdown sourced by a local list 

Correct Answer: C 

 

QUESTION 4

Which of the following is not true of a substitute operator? (Choose One) 

A. A specific operator can be assigned 

B. A specific workbasket can be assigned 

C. A specified work group can be assigned 

D. It can be determined by a decision tree rule 

Correct Answer: C 

 

QUESTION 5

Auto-Complete can use same source list as of Dropdown 
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A. true 

B. False 

Correct Answer: A 
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